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_ CHEMISTRY &

121, The radial probability distribution curve obtained for an orbital wave function
(yr) has 3 peaks and 2 radial nodes. The valence electron of which one of the
following metals does this wave function (y) correspond to ?
o8, wbyerd S6or [Sabo () 38056 SogeSger DESm SIE 36?8 Sporen,
2 B8aE S'Een oy i ebees s¥on (SHoo (y) 808 adzeds )
e g J88 JogEH HoHs? i -
e o et e K L@ Na _

122. In a hydrogen atom, the electron is at a distance of 4768 A from the nucleus.
The angular momentum of the electron is : 3
o Euf SESr@mHE Som§ Bosso Hob 4.768 A Brgo&t @ob. &
§fdon |HSgdfio 208?

3h h h 2h
fm 9 (2) o {(3) p (4) o

123. The incorrect order of second ionization energies in the following 18
% B8of ErDodY SBE° TodS eabiEdm ¥Ro Sy HODS (FSED

b )
J) BbEK (2) Na > Mg
@ Cr> Mn e8> P ! _
124. The correct order of magnitude of bond angles among the compounds CHy, NH,
and H,0 is : ke,
CH,, NH; socss Hy0 swpos® Sgond posEin Sorm FHSs 267
(1) CH, < Hy,0 < NH3 Vi2) H,0 < NHg < CHy
(3) NHy < CH, < H,0 4) NH, < H,0 < CHy
125. Molecular orbital theory was propo by :
(1)  Lewis | v¥(2) Mulliken
(3) Slater (4) Pauling
oo wiyerd Lorodand (S8FB008S ¢ &
(1), eomoxnl JS2)  S005S
@ oeb (4) Do
Rough Work
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If the solution of copper sulphate in which a copper rod is immersed, is diluted
100 times, what is the change in electrode potential {Reduction) ?

(1) increases by 29.5 ‘mV (2) decreases by 29.5 mV

(3)  increases by 59.0 mV S decreases by 59.0 mV

=56 58 Swosuds wab $86 Sy 100 3y Db 3usuos 08 6
Hoortom TBRONEES Smdy do¥l

(1)  29.5 mV 2&HiMs00 (2) 29.6 mV éﬁ::;ﬂm&

(@) 59.0 mV BhrbEed S 59.0 mV Sisod :

131.

What is the e.m.f. of the cell for the reaction Fe** + Zn — Zn>* + Fe ? Given
6 : 5 A :
that By iz ™ 0.76 V and By iptaom QAN
Fett 4 zn =5 Zn>* + Fe Sy si&) Heo Gwsy emf Jos?
0 55 : . 0 T _
B nlzn® o M) 0.78V ssats Bp,ipetraom 041V 5550850
a1V Y il @ AW LS v

132.

A ecrystalline solid substance has a density of 10 -gfema and the length of the
edge of the unit cell (FCC) is 2.0 A. How many number of atoms are present
in 200 grams of the solid ?

b8 HB8 DIBerd FoES10 (0. 55). oS b (FCO) S8y S0
aess 2.0 A sonigeons 200 (= HEGrTo6® @08 SFErmBH ﬂﬂ@? Jos?
O 2108 LGl ex 105 fa)° 1 %20, (@) 5 »10°

133.

For the reaction A + 3B — 2C.+ D, which one of the following is not correct ?
(1) Rate of disappearance of A = Rate of formation of D

(2)  Rate of formation of C % Iiate of disappearance of B

[ = oo B

(3) Rate of formation of D X Rate of disappearance of B

(=]

: ﬁlﬂ Rate of disappearance of A = 2 x Rate of formation of C

A VSR 5 90+ D Sugh G Sob >88° 206 RO vonds TE?

(1) A 8nde den = D D&% Ben

2
2 . C dgyth S& = 3 X B &y O»
: n
1
(3) D agnw Tew = 3 * B é_ﬁgde G

J& A smbe G =2x €05 dw

Rough Wurk
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134. What is the effect of a ten-fold increase in pressure on K, in the reaction
No@ + 3Hy@ ¥ 2 NHgg) at equilibrium ?
(1) A ten-fold increase (2) A ten-fold decrease
J® No change (4) Bqual to K,
Ny + 8Hyter) ¥ 2 NHy(=) 557g BHerbBE® LHely Sboder BodTHE
K, o Spessy d27
(1) Shoden BEHMDH (2) SB8odgen 5?5‘35-3
JB®  sneny wesm @) Kg8 s83m358008%
185. Assertion (A) : According to Lowry-Bronsted theory, a substance can funetion
as an acid as well as a base.
Reason (R) :  Acid reacts with a base to produce a salt.
The correct answer is : k- |
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
ﬁﬂ] Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is not true

(4)  (A) is not true but (R) is true i
ApEs (A) : T8-er528 QEPOB0 (FTOEn B SRedhS SO eBHmmD

S0y PoSurs SATabied
riads (R) :  sHd prans® g6y =00 eSosus DTS
ﬁﬁéga_ﬁ BarPE:
1) (A) oot (R) e Jess. (A) % (R) B0 DSYe
\/{2} (A) &8a% (R) & desv =2, (A) & R WS IS e
(3 (A) dssn =20 (R) Dasy &
4) (A Desy =% =0 (R) desn

Rough Work










141.

e

A and B are the compounds of carbon. A on passing over red hot coke is converted
to B. Then A and B are respectively :

A SBa B wi§ sdg¥ores. A & e wEys §°5 dotoer SohoSe
B Soyosh. oond A S0d B eo, SR8 ¢

(1) CO, CO, -Aﬂ} C0,, CO

(3) CH, C,Hg (4) CCly, CHCly

142.

In PO, the number of oxygen atoms bonded to each phosphorus atom is :
PO,y &° 158 aﬂﬁgn’ﬁﬁ‘ poSsn QEEDS w8yEs SoSmmeshe Homg ¢
M 3 J@ 4
3 b (4) 6

143.

The oxidation numbers of sulphur in Sy, SO, and H,S, m_spaciiiwly are :
Sg, SO, shbos H,S o&® :ﬁm;g wlyson Somge SHBP :

1) 0, +6, -2 2 0, +4, -2 .

(3 0, +1, 42 ) 4) 0, +1, -2

144.

JB& Ch>Bry>F>L @ Cl, > Fy >Bry > I

The order of bond energies in halogen molecules is :
W5t nE emaped® wog¥l (Fhan:
(1) F, < Cly < Bry <*l 2) F,>Cly>Bry> I,

145.

The shape of XeFg is :

(1) pentagonal bipyramidal (2) square planar :
(3)  octahedral J4) distorted octahedral
XeFg Gany e8!

(1) oerhi s B ssdEd (2 SHEe FHH SN
@) eTEs $H 5858 ewrEd

146.

One mole of CoCl; YNH; complex compound on complete jonisation in water
produces three moles of ions. If one chloride satisfies both primary and secondary
valencies of cobalt ion, the value of Y 18 @

o 36 CoCly YNH; So8s sdy¥de 886 Hroc ouHdEEo Sob, Srd
S sdnSod DoyEHS. o¥ 596 earS, Ford sars sy (S ans,
Ba8ad SomreiSeid SHego vy Y Dend !

Lo 2 . (2) 4

S35 4 6

Rough Work
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FINAL KEY

AGRICULTURE & MEDICINE

BOOKLET - CODE - A

Q.No. | 1 2 3 4 5 6 7 8 9 10 |11 |12 |13 |14 |15 |16 |17 [18 |19 |20

Ans 4 4 1 4 3 3 3 1 4 1 2 3 2 3 4 2 1 2 2 3

QNo. |21 |22 |23 |24 |25 |26 |27 |28 |29 |30 |31 |32 |33 |34 |35 |36 |37 |38 |39 |40

Ans 2 1 2 4 3 4 4 4 3 3 3 4 3 3 2 1 1 3 1 4

Q.No. |41 |42 |43 (44 |45 |46 (47 |48 |49 |50 |51 |52 |53 |54 |55 |56 |57 |58 |59 |60

Ans 4 1 2 3 3 3 2 2 2 1 2 3 2 3 1 2 * 3 3 2

QNo. |61 |62 |63 |64 |65 |66 |67 |68 |69 |70 |71 |72 (73 |74 |75 |76 |77 |78 |79 |80

Ans 3 3 2 4 2 4 1 2 3 2 2 4 3 3 2 3 3 2 2 3

Q.No. |81 |8 |8 (8 |8 |8 |87 |8 |8 |90 |91 |92 |93 |94 |95 |96 |97 |98 |99 | 100

Ans 2 4 2 1 1 2 1 4 1 3 3 2 3 1 1 3 2 2 3 2

Q.No. | 101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110 | 111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120

Ans 4 2 2 2 3 4 4 1 2 2 4 2 3 1 3 1 2 2 3 3

Q.No. | 121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130 | 131 | 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 140

Ans 4 1 1 2 2 4 4 1 3 4 2 3 4 3 2 3 4 2 4 1

Q.No. | 141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 | 150 | 151 | 152 | 153 | 154 | 155 | 156 | 157 | 158 | 159 | 160

Ans 2 2 2 3 4 3 1 2 1 1 1 4 3 4 1 2 2 3 2 4

BOOKLET - CODE -B

Q.No. | 1 2 3 4 5 6 7 8 9 10 |11 |12 |13 |14 |15 |16 [17 [18 |19 |20

Ans 2 1 2 4 3 4 4 4 3 3 3 4 3 3 2 1 1 3 1 4

QNo. |21 |22 |23 |24 |25 |26 |27 |28 |29 |30 |31 |32 |33 |34 |35 |36 |37 |38 |39 |40

Ans 4 4 1 4 3 3 3 1 4 1 2 3 2 3 4 2 1 2 2 3

Q.No. |41 |42 |43 (44 |45 |46 (47 |48 |49 |50 |51 |52 |53 |54 |55 |56 |57 |58 |59 |60

Ans 3 3 2 4 2 4 1 2 3 2 2 4 3 3 2 3 3 2 2 3

QNo. |61 |62 |63 |64 |65 |66 |67 |68 |69 |70 |71 |72 (73 |74 |75 |76 |77 |78 |79 |80

Ans 4 1 2 3 3 3 2 2 2 1 2 3 2 3 1 2 * 3 3 2

Q.No. |81 |8 |8 (8 |8 |8 |87 |8 |8 |90 |91 |92 |93 |94 |95 |96 |97 |98 |99 | 100

Ans 4 2 2 2 3 4 4 1 2 2 4 2 3 1 3 1 2 2 3 3

Q.No. | 101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110 | 111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120

Ans 2 4 2 1 1 2 1 4 1 3 3 2 3 1 1 3 2 2 3 2

Q.No. | 121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130 | 131 | 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 140

Ans 2 2 2 3 4 3 1 2 1 1 1 4 3 4 1 2 2 3 2 4

Q.No. | 141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 | 150 | 151 | 152 | 153 | 154 | 155 | 156 | 157 | 158 | 159 | 160

Ans 4 1 1 2 2 4 4 1 3 4 2 3 4 3 2 3 4 2 4 1

* Deleted




EAMCET-2010
FINAL KEY

AGRICULTURE & MEDICINE

BOOKLET - CODE -C

Q.No. | 1 2 3 4 5 6 7 8 9 10 |11 |12 |13 |14 |15 |16 |17 [18 |19 |20

Ans 3 4 3 3 2 1 1 3 1 4 4 4 1 4 3 3 3 1 4 1

QNo. |21 |22 |23 |24 |25 |26 |27 |28 |29 |30 |31 |32 |33 |34 |35 |36 |37 |38 |39 |40

Ans 2 3 2 3 4 2 1 2 2 3 2 1 2 4 3 4 4 4 3 3

Q.No. |41 |42 |43 (44 |45 |46 (47 |48 |49 |50 |51 |52 |53 |54 |55 |56 |57 |58 |59 |60

Ans 2 4 3 3 2 3 3 2 2 3 4 1 2 3 3 3 2 2 2 1

QNo. |61 |62 |63 |64 |65 |66 |67 |68 |69 |70 |71 |72 (73 |74 |75 |76 |77 |78 |79 |80

Ans 2 3 2 3 1 2 * 3 3 2 3 3 2 4 2 4 1 2 3 2

Q.No. |81 |8 |8 (8 |8 |8 |87 |8 |8 |90 |91 |92 |93 |94 |95 |96 |97 |98 |99 | 100

Ans 4 2 3 1 3 1 2 2 3 3 2 4 2 1 1 2 1 4 1 3

Q.No. | 101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110 | 111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120

Ans 3 2 3 1 1 3 2 2 3 2 4 2 2 2 3 4 4 1 2 2

Q.No. | 121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130 | 131 | 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 140

Ans 1 4 3 4 1 2 2 3 2 4 4 1 1 2 2 4 4 1 3 4

Q.No. | 141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 | 150 | 151 | 152 | 153 | 154 | 155 | 156 | 157 | 158 | 159 | 160

Ans 2 3 4 3 2 3 4 2 4 1 2 2 2 3 4 3 1 2 1 1

BOOKLET - CODE -D

Q.No. | 1 2 3 4 5 6 7 8 9 10 |11 |12 |13 |14 |15 |16 [17 [18 |19 |20

Ans 2 3 2 3 4 2 1 2 2 3 2 1 2 4 3 4 4 4 3 3

QNo. |21 |22 |23 |24 |25 |26 |27 |28 |29 |30 |31 |32 |33 |34 |35 |36 |37 |38 |39 |40

Ans 3 4 3 3 2 1 1 3 1 4 4 4 1 4 3 3 3 1 4 1

Q.No. |41 |42 |43 (44 |45 |46 (47 |48 |49 |50 |51 |52 |53 |54 |55 |56 |57 |58 |59 |60

Ans 2 3 2 3 1 2 * 3 3 2 3 3 2 4 2 4 1 2 3 2

QNo. |61 |62 |63 |64 |65 |66 |67 |68 |69 |70 |71 |72 (73 |74 |75 |76 |77 |78 |79 |80

Ans 2 4 3 3 2 3 3 2 2 3 4 1 2 3 3 3 2 2 2 1

Q.No. |81 |8 |8 (8 |8 |8 |87 |8 |8 |90 |91 |92 |93 |94 |95 |96 |97 |98 |99 | 100

Ans 3 2 3 1 1 3 2 2 3 2 4 2 2 2 3 4 4 1 2 2

Q.No. | 101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110 | 111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120

Ans 4 2 3 1 3 1 2 2 3 3 2 4 2 1 1 2 1 4 1 3

Q.No. | 121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130 | 131 | 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 140

Ans 2 3 4 3 2 3 4 2 4 1 2 2 2 3 4 3 1 2 1 1

Q.No. | 141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 | 150 | 151 | 152 | 153 | 154 | 155 | 156 | 157 | 158 | 159 | 160

Ans 1 4 3 4 1 2 2 3 2 4 4 1 1 2 2 4 4 1 3 4

* Deleted




